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QUESTION 1

Which option is a critical mechanism to optimize convergence speed when using MPLS FRR?
A. IGP timers

B. Bandwidth reservation

C. Shared risk link groups

D. Down detection

Correct Answer: D

QUESTION 2

The enterprise customer ABC Corp will deploy a centralized unified communications application to provide voice, and
instant messaging to their branch offices. Some of the branch offices are located in remote locations and are connected
via a 1.5 Mb/s Layer 3 VPN connection. Which two ways are the most cost-effective to ensure that this new application
is implemented properly? (Choose two)

A. Use a low bitrate codec such as G 711

B. Set voice activity detection to avoid sending packets when the conversations is silent

C. Enable VRF-Lite on the CE router to create a separate voice VRF

D. Set LFI on the WAN connections to interleave the small voice packets with the large data packets

E. Set WAN optimization on the CE router to compress the voice packets for improved bandwidth utilization and
performance

F. Use a low bitrate codec such as G 729

Correct Answer: BF

QUESTION 3

Which two design aspects should a metro service provider consider when planning to deploy REP for his backbone?
(Choose two.)

A. Two REP segments can be connected redundantly at two points, one connection will be blocked as per the STP
defined in IEEE 802.1d.

B. UDLD can be enabled on REP interfaces to detect unidirectional failures.
C. The guaranteed convergence recovery time is less than 50 ms for the local segment.
D. A REP segment is limited to a maximum of seven devices.

E. VLAN load balancing for optimal bandwidth usage is supported in any REP segment.
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Correct Answer: BE

QUESTION 4

Refer to the exhibit.

Highly Parallel
Data Center

<
.

Area 0 - Backoone

L
Y

Large-Scale
Hub-and-Spoke

Highly
Redundant
Campus

This new OSPF network has four areas, but the hub-and-spoke area experiences frequent flapping. In order to fix this
design failure, which two mechanisms can you use to isolate the data center area from the hub-and-spoke area without
losing Ip connectivity? (Choose two)

A. Use OSPF distribute-list filtering on router A

B. Deploy a prefix summarization on router D
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C. Make the data center area a NSSA
D. Make the data center area totally stub
E. Convert the data center area to EIGRP protocol

Correct Answer: BD

QUESTION 5
Which two reasons for implementing Cisco MPLS TE in a service provider MPLS backbone are valid? (Choose two.)
A. when Cisco MPLS TE is a prerequisite for implementing RSVP in the backbone

B. when Cisco MPLS TE is required to reroute traffic within Jess than 1 second in case of a link failure inside the
backbone

C. when Cisco MPLS TE is required to create backup paths independently from the IGP
D. when Cisco MPLS TE can detect and react to neighbor failures faster than IGPs can
E. when Cisco MPLS TE is required to route different MPLS QoS service classes through different paths

Correct Answer: CE
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